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PRESENT TENSE

Czech has only one present tense. The present tense is also often used in everyday speech to
express a definite or planned future.
For example, Zitra jsem doma. Co zitra délds? V sobotu jedu na vylet.

All Czech verbs use conjugation. This means that the verb changes its ending and thus
expresses different persons. Personal pronouns (e.g. jd, ty, on) are not usually used with verbs
in Czech, unlike in many other languages, because the information about the person is
expressed by the ending of the verb. We use personal pronouns with verbs only when we
want to emphasize them (e.g. Jd jsem doktor, ale ty ne. Ona mluvi, on pise.), or in everyday
spoken language. Note, however, that we never omit the demonstrative pronoun to in the
expression To je.../To neni... (e.g. when we point to something or someone).

All Czech verbs use conjugation. There are four types of this in the present tense. We assign
verbs to them according to the first person singular ending (the form for the person jd). The
dictionary form (infinitive) usually ends in -t (e.g. délat, mluvit, studovat).

-AM -im -U -UU
infinitive Délat rozumét pit pracovat
ja del-am rozum-im pij-u prac-uju
ty dél-as rozum-is pij-es prac-ujes
on, ona, to |dél-a rozum-i pij-e prac-uje
my dél-ame rozum-ime pij-eme prac-ujeme
vy deél-ate rozum-ite pij-ete prac-ujete
oni dél-aji rozum-i pij-ou prac-ujou

Negation in the present tense

To form a negative, you add the prefix ne- before the verb, which we write together with the
verb. For example, Neplavu ani nebéhdam.

Czech has double or multiple negatives, for example, Co nikdy nedélds? The meaning of the
sentence remains negative.

-AM -im -U -ulu

nedélat nerozumét nepit nepracovat
ja nedél-am nerozum-im | nepij-u neprac-uju
ty nedél-as nerozum-is nepij-es neprac-ujes
on, ona, to |nedél-a nerozum-i nepij-e neprac-uje
my nedél-dme |nerozum-ime |nepij-eme neprac-ujeme
vy nedél-ate nerozum-ite | nepij-ete neprac-ujete
oni nedél-aji nerozum-i nepij-ou neprac-ujou

In Czech, a negative question is often used as a polite suggestion or offer.
For example: Nechces kdvu? Nechces jit na tenis?
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Questions in the present tense
To create a question, just change the intonation of the sentence. Note the two types of
intonation:

1. If the question can be answered ano or ne, the intonation of the question rises:
To je tvudj kamardd? —_—
Vy jste student?

2. If the question cannot be answered ano or ne the intonation of the question ascends and
descends:

Odkud jsi?
Co d&lgs? /\,
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